
  


Two-sample t-test


  


Two-sample t-test




  

10 observations per group. 

Alternative: difference in means is one half within-group standard deviation.
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Technical replicates




  

5 biological replicates per group, with 3 technical replicates each. 

Biological variability (SD) ten times larger than technical variability.
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Significance level : 0.01
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Significance level : 0.05

Paired data in ten observations.

Between subject variability (SD) equal to error.
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Significance level : 0.05

Paired data in ten observations.

Between subject variability (SD) ten times larger than error.



